MISHIMOTO

1. REMOVE THE STOCK PCV HOSE.

2. INSTALL THE FITTINGS ONTO THE CATCH CAN.

3. INSTALL HOSE 1 TO THE FITTING ON THE "IN" SIDE OF THE CATCH CAN USING
A PROVIDED WORM GEAR CLAMP.

4. INSTALL HOSE 2 TO THE FITTING ON THE "OUT" SIDE OF THE CATCH CAN
USING A PROVIDED WORM GEAR CLAMP.

5. FASTEN THE BRACKET TO THE CATCH CAN USING THE PROVIDED M4 BOLTS.

6. CONNECT HOSE 1 TO THE PCV VALVE LOCATED ON THE TOP OF THE ENGINE.

7. CONNECT HOSE 2 TO THE INTAKE MANIFOLD PORT.

8. INSTALL THE BRACKET TO THE TWO EXPOSED STUDS ON THE DRIVER-SIDE
STRUT TOWER USING THE PROVIDED M10 NUTS. IF THE VEHICLE IS EQUIPPED
WITH A FACTORY STRUT TOWER BRACE, PLACE THE BRACKET UNDERNEATH
THE BRACE ON THE DRIVER-SIDE AND PLACE THE PROVIDED SPACERS

UNDERNEATH THE BRACE ON THE PASSENGER-SIDE. MM1513-16
MM1325-3

TO PCV VALVE MM4698-01

MM1513-16

MM1163-30

BF4X0.7-10

MM2494-01

BILL OF MATERIALS
TO INTAKE MANIFOLD MM4698-02 PART NUMBER | _ DESCRIPTION __[QUANTITY

MM1570 CATCH CAN 1

MM1513-16 FITTING 2

MM4698-01 HOSE 1 1

MM4698-02 HOSE 2 1

MM1325-3 | WORM GEAR CLAMP 2

MM2494-01 BRACKET 1

MM2494-02 SPACER 2

BF4X0.7-10 M4 BOLT 3

MM2494-02 MM1163-30 M10 NUT 2




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


